0.

A5 G 15 A2z aintl, 12 122 weloll 8. A 5412 1A 9d- @zl 222l 212 Badl F2dl dia dl
Gl Iy 524 gl 7

(A) 720 u- 3|22 (B) 900 &+t Hl22
(C) 1200 a4 {23 (D) 1800 &~ 122

25 Hﬂl X 1125 €Ml x 6 AL A 5208, % 161022 @ioll, 6 022 Gl ¢4 22.5 W2z adl Baia w2
s2dl Szt ASA 7

(A) 5,600 (B) 7,200
(C) 12800 (D) 16,800

25 514 A 10 (B2l 24 B 15 Bauui yol 3 9. 5 Rau 344l A 214 B 513 53 8, udld 514 C sl
olloa 2 [Eazmi el 53 6. 24 54 1% 30,000 ld dl C A 32dL Hadl ?

(A) 5000 3L. (B) 4500 3L.
(C) 4000 31. (D) 3000 3L.

4021 7 sersii 215 318 A 59 A3 6. A 24308 1 sesHi yol s2a-l dlu dl ga st el 3l
¢9 7

(A) 12 (B) 14

(C) 24 (D) 28

A 24l ol 3eiietz 7 : 8 8, o120 21 400 (330 2id2 4 scsui 5106 ol nam gl s s2efl wal ?
(A) 83.5 (33l / seus (B) 85.5 (330l / sc15

(C) 87.5 (331 / sas (D) 89.5 (33l / scus

35 122 dousS L Az otz 215 952 9 (Bl / seus-l a8 eld ©. 20 AU §3g elsau d- 524l
AHY A2l ?

(A) 50 A58 (B) 52 A4

(C) 54 ASS (D) 56 A5

N5 HILLRA |3%% gL 3L 50 AL et louR 5% qziadl WIle 69, AL AAHL dA S2dl 251 a1

HAY el ?
(A) 13% (B) 14%
(C) 15% (D) 16%

8% 4t VAHL 3t 1620 Ascudl 135 31 2 HA 8. dl flAL oA ¢ud s2dl 2l ?

(A) 80 (B) 96
(C) 106 (D) 116

MDSCJC -2023-C | 3 A D
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e 31 s2Al U9l 7
9, “5 P 0w, (89)2 Gl v 9, 2L uLlUHAL 1726 HPLS

(A) 5.65 (B) 3.5

(C) 2.7 (D) 1.87

10. [Qendlagiy 2. AU 121, Fean [@Qenell2 8 dean 31 2isAld 524t 1551 52 89, 21w3 5999 3L e,

MUY, dl gt Rendlof 326 )

(A) §7 (B) 67
(C) 77 (D) 87
1. T+b=53 30+ 25 =20 ludl'3q_ & 1y s2q el ?
(A) 15 (B) 20
(C) 25 (D) 30
2. s s1vuum g23\e g 55T S 0. A AsBuni 5 Rau s12vif 0y 8. Ay 514 3oy 5415+
24 3L ¥ AlaR2AS UL 15y 32 3L ALY, A SHERA 4320 3L HA dl SMER 2 sens g 534
$9| ?
(A) 160 a5 (B) 175 sc15
(C) 190 scus (D) 210 sA1%
13. 1399 % 1399 o yeu 32¢f ¢\ 7
«(A) 19,57,201 (B) 19,47,201
(C) 19,37,201 (D) 19,27,201
4. 12% cusdll 3 e w2 s calf Aesuis i 4 & 24 2 5400 2U N2 352 B, 21 ARoNu] Yy 524
82 ?
(A) 2,000 3L (B) 10,000 31.
(C) 15,000 3. (D) 20,000 31.
IS, Seanasi eucs- €3, s 35m § af aue SHEll iy 6 ?
(A) 12.5% (B) 13.5%
(C) 14.5% (D) 15%
16. ol 2{va =l2 vl 52 453 209, 43 S0% AR 69, ) q 6] vl 3yelinz 22¢ ¢4 ?
(A) 2:5 (B) 3:5
(C) 4:5 (D) 6:5
7. U782, A, B C A 172, 2/3 w4 374 HHISHEBMAM 20 B, ) A 3 3oeq) 6 YN ?
(A) 3L 189 (B) 31 190
(C) 3L 191 (D) 31 204
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5«4

8.
19.
20
21.
22.
23.
{2
{
—. 24
L £
3 28,
P
/0.
7, &
_ %0
I

MDSCJC -2023-C |

1 (A) Abandon

'{l:‘* f_p "\ N . " .
CILACEI AOE stami, yoe: YW Alsadl el 2bf, sul il ?

od I3) Actuate

(C) Accumulate (D) Acquit

AU B 22 A A4z 2 A € 039 3 A2 (e 317760 2 A dl B ada-Al 3 A nA A

CA2 A% 770U 8. A Al B2 A fl € Al A4l2 e 3. val ?

(A) 3L 3 34 31, 23 (1B) 3t 13 2 30 17

(C) 3L 17 244 31, 13 (D) 3t 15 24 30 14

LAl 100 L 2ivan el aud «3v A divag 326l quid v 20 O ?
(A) 10 (13) 11

(C€) 15 o (D) 20

"A’is for Assertion and *R’ is for Reasoning, choose correct answer.

o . , . o
A) Pressure cookers are fitted with chonite handles,
R) Ebonite is Strong
(A) Both *A’and *R" are true, ‘R is correct explanation

(B) Both *A’ and ‘R are true but *R*is not correct explanation

o C) *A'is true, *R’is false

(D) *A’is false but *R"is true

QAL WS sul 2106 11 Ave WA yidy ] ?

3
3
S
. |

(A) Tooth (1) Chin )

(C) Nosc (D) Ear 3 ¢

QA4 W4 sS00ul 2Adl by 4l ? (Choose the number pair which is not correct)
(A)7:22: 1¢ (B)12:37 "~

(C)8:33 ¢ o(D) 15 : 46

QAL U4 56 eiotd 24 1adl 14l ? (Choose the odd man out)

(A) Rie o(B) A5

(C) Al (D) A

vdl or2ul ‘-Lil :

100, 180, 294, 448
4,18, _, 100, 1

(A) 48 o A
(C) S8 (D) 60

‘N

P.T.0.



]
2V,

30,

Sk,

33,

34.

‘

Alabaeniddl seg =il suell 4l ?
(A) (332 <(13) 25213
() sl (D) dlsdl

st L el 2AdE AL aoean ean Ases yHl 2d 9 7

(A) 0.1 A58 (13) 0.5 A5
(C) 14573 (D) 1.5 A58
el vl argH wlalowe .......... TEREURIT N

@ vz (13) 4141

(C) sinl >%n) (A5
uou&and Ad 2402 w2 st ol quge 9 ?

(A) USE (B) dlal

(C) s (D) A4
Al sy 285 01 4l ?

(A) ARy — d 6y 3211 2 69,
(C) o4 — d Yl A1l g1 A 69,
yed| w2 ALl ay Hofl 2uadl g 56 © ?

(A) divy (B) dlvis

(C) izl (D) Ay[HAun
sUL USIRL SLAAT U051 R YHLsl 3 At Geu~t adt 44 ?

(A) 2 _(B) wA12
(&) SERTRY: (D) (G124l
Hgr-L ALRHE (-l 2204 sl gty 69 7

(A) Usd (B) g Qs

(C) w8 (D) =AM

“ageryedldl s ad wa 8. dd aduus WRAwkRd 516 5y ¢d ?

(A) AE (B) a4 (A2

L(0) e (D) Pu%

(B) 245 — d ALl ay doradl us ©.

(D) {2 — d QALALL Ysdl A 69,
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1S Th b E M \ '
sl A I I R TR T SN CR LI BT YT 1 A ERYTERLIETIRLIUES. ’

o (A) 3lin) (1) )2 2

(C) sV 161+ THEIDRE R

A\t A uidl oy sane TCRLIE
(\) [?Miﬂ HUSC ~ Y2y (18 MAS seart = (N
(C) AW el = w14 ) () gl sl i — 2y
7. adnivdl 68 glq squiee ool 2l 9]
(A) Mzl uyAy L (I s la
(C) sts-l 2#dl (D) amltay
a8, Mzl Al Wiz ialas v sul o3 7
o (A) vetlutdl sansue - wune (1) 2tEaadl - s el
(C) R AL 7N (D) Al sl
39, ALl sul L9 4 (SAARC) AL« 4l 7
o (A) Wilb2in (13) 2l
(C) 4w (D) M4zla
R T R TEECTAR TRTEET T I Rt
(A) 2itlleo (1) FAUIAA 1 3
(O Nlid (e (D) [a=-ua 2012
11. (Ha-Ga-vpenz 'l a3 sl 53l edl?
(A) 2UAUH H:im;-talu (B) 22214 20313
o () 4T HUE HEHE (D) AUt HdHE H34d]
12, ouzdly [Qanea du sol4 dues siered
(A) FAUSIHIY A 3 (13) 77 t1d HL51R
(C) P00, ALEAID S @Al HEHER
43, WAy d 21 M AL AL A At 951 54l s 3@ Gl Ad-unidl su aru e
Al [l @z wsat 4 eal
(A) sules RUUEEIE
(C) H4zd () diAz

MDSCJC - 2023 - C | 7 " T.0.



14, SUL B 5241 JHIAL Yot SIUAEL AHEL AL AL ARAUHT 241l ?

o (A) .20 1773 1 3244 (Za 252 (B) §.24. 1784 (U2 S(-3ut 2152
(C) O.31. 1833 -l w123 152 (D) 5.3 1813 -l A122 152
5. ARl su [@adiui Judadl gl 2mani ysai 2udl 4 odl ?
(A) R (B) Ho1®
o (C) FURUM (D) Hal™
46. otlg AU e e ‘Quder’ 20 Ui’ saidl wed aqun e ?
(A) 2 . (B) Aldst
(C) yHu (D) S-si2ut
47. ‘ouarl 35124l sui 2uddl © ?
(A) dvuea (B) A% dl
(C) *aul&uz (D) Szl
48. ‘llofl 51 1561 S o{diel dl ?
(A) U230 | o(B) AU
(C) iR (D) We24H

49. ol YuiRl sl Aaas 56 squui O ?
_(A) 544-370 (B) $44-154
(C) $44-395 (D) 544-368
50. AFUAUMIHL S22l UL AlHe[s sl At ayfaA € ?
(A) 10 -(B) 12
(C) 14 (D) 16

51 -lA-umidl sy ausy Qe aisu 69 ?

(A) 8 A2l 2% 1R Al ? (B) duil 202 Ua21R a4,
(C) dH 2% *HU21R %2l (D) A2 a2 g A,
52. ‘g2 qoenl au-udl eenal.
L(A) (2112 (B) dedl
(C) 44 (D) oYy

“—_—_____——_____—___—
MDSCJC -2023-C | 8 (Contd.
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'a

a0 Al 6 el aye el 7

(A) (243

() Gleansg
e (C) [53Q1y
(D) 2 5anil

S 'OARAR e 4 5161

(A) Od 4 343 - i
i'” A2 4+ Hd2

C) B + 2 :

‘ 2 (D) Hed + M342

B L CEEEH RN R

(A) 2 + Gl (B) 241 + Q4
(©) #+ Gl (D) ¥ + Gl
36. W Al Ay d HHAD 6. — ;512 Biopual.
(A) AHeuguy o (B) Mg
(C) ALEL{MY (D) Gua
37. BBl su dsui, deld 2afEs a3,
1l Uil (3 e yaa sl o3
AE LR inval.
)[A) Gy (B) Gz
£S) Hauld~u (D) A1 [d
38. Ad-unidl sul 2oe 9’ Ax-ndl aoe 44 ?
(A) 482 (B) [R5
(C) 014y (D) R
59. “Ud 2g AL, ugs, 2uud oA L asuuidl sy [@Qdue 44 ?
(A) (B) ¥15
(C) 1% (D) LMY
60.  Ala-unidl 54 qeayas (Fu [ague o ?
LA) Avid (B) 1M
(C) d2d (D) %%

-
MDSCJC - 2023 -C | 9 P.T.O.



61. IR TR TGN CE

e Qv '/ d v ) 1 &7 I 4

AGL ML 2% garani Bl

g o '*t"u"#.!-tng,

. L9 wla, t,
; ﬁ;—- (A) HAER o (B) P1L2U
(C) yedl (D) HEPLHN
62. UL v ug’ 3EuULLLA) 2 el
(A) H55H 28q (B) 1Al ald sl
_(C) gou 98 og (D) Bldid2 ad
63. ‘ol 20l Al @ A6 eudl.
S(A) B+ 2+ + 0 + o +Y + 2 (B) G4+ 2L+ & + 0 + Y + 2
(C) 4+ 2+ S + 0 4+ 4 + Y + (D) &+ 2+ O + 0+ +Y4 +
64. AA-uniy 56 yd 2Asu 1l ?
(A) 3[d | « (B) &A%
(C) 19 (D) doil
65. Ald-unidl sul s3{uRgE 21 A ?
, (A) Hadlg (B) uard3L
(N b2 4 8 4Gy , (©) 2lsid2 (D) AW $HYN
66.  Change the voice :

Having won the match, the players returned home.

(A) The match having been won the players returned home.
(B) The match won by the players and returned home.
o (C) The match have been won & players returned home.

(D) After won the match by players they returned home.

67. Find out the wrong match of positive degree and superlative degree words
(A) Beautiful — Most Beautiful (B) Foolish — Foolishest
e (C) Much — Must (D) Many — Most

MDSCJC -2023-C | 10 [Contd.
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6S. Give one word »

A discase whichy «
case which Sprreads by Contact

| (3) (.'unlr:u‘llll

(C) Contagions ) |“cur|'i!-'-“'ll‘
00. Whatis the plural of - “Alumnus”

(A) Aluminum (B) Alumni

(C) Alumnases (D) Alumnis
“(). Find out wrong spelling,

(A) Skilful (B) Memory

o(-C) Variegated (D) Variagated

1. Fill in the blank with proper word :

The man . ivi
was driving the lorry was drunk.

el e (B) whose
(C) who (D) where
72 Put appropriate article in a blank of given phrase :
“totake ___ interestin”
(A) the (B) a
(C) no article (D) an
73 Which of the following modal auxilliary verb:s 1ot used in “Past Tense”?
(A) Must ,(B) Used to
(C) Could (D) Should
74. Find out the part has an error:

I and Ram (1) / will take care of (2) / the function (3) / on saturday (4)

(A) 4 *>(B)3

(O) 2 (D) 1

priate sentence with correct punctuation mark. Are we there yet she asked.

75. Select the appro

. (A) “Are we there”, yet she asked. (B) Are we there yet, she asked.

e . - "
: D) “Are we therey asked?
(C) “Are we there yet?” she asked. o(D) “Al yet”, she asked?

76. Fill in the blank :

Have you been teaching 2 O’Clock?

J(B) since
(A) for
(D) through

(C) upto

__’_,/——‘“ﬁ’—_—__\
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(B) We rather would use laptop than desktop.
(C) We wWould rather use desktop than laptop.
D) \W ~
(D) Would we yse laptop rather than desktop.

Fill in the blank in an English proverb.

Charity begins

(A) with self '
e , (B) by the self

(C) with home (D) at home

79. ¢
Change the sentence into Future Tense :

The soldiers obey their commander.

(A) The soldiers shall obey their commander

 (B) The soldiers will obey their commander
(C) The soldiers should obey their commander

(D) The soldiers will have to obey their commander.

80. Turn this sentence into indirect speech :

The student said to me, “Let me read sir.”
(A) The student said that let him read.
¢ (B) The student asked sir to let him read.
(C) The student asked me to let him read.

(D) The student said to sir that let him read.
81. International Atomic Energy Agency (IAEA) :1_, HUY HY S 56 @Y 21 6 7
(A) d3+ (B) [
(C) ~y4uis (D) aizlla2+
82. {l Yl ‘The UNO’ Al 2atu-it sut 2dHi 4dd ¢dl ?
(A) sl . (B) U<l
(C) Al s1={lusl (D) ds
83. MHIdAHI ‘_‘;i*{'l qey 3 (Common Wealth Day) sU13 Graly 69 ?
(A) Ayl 25 (B) 4 24

»(C) 2il52101R 24 (D) 44312 14
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o HAYS 04 B gy (Man of Blood ahd Tron) da¥ 5l M]rm-wlm
(A) uidlu- ) {20t
(C) el 4l 3{l-2 (D) %2 di2 2512
. (AL A ol 28R 565 oy 9 7
o (A) Hlu2lun 2izs(y (B) & 40t i25(d
(€) Al 2425(q (D) el 2zs(d
go. T AYETHEA A a3 vz AH Al 69 ?
(A) $8 Al (Dead Sea) (B) dld 445
_(C) 51l 4y (D) M A4S
§7.  eeeeeeens Ayl D 291 Low Country sddiui 2d 9
(A) 24 (B) S24l
(C) €ld-s (D) é34L
§8. 4l 50 (Davis Cup) 568 3:d 18 2z 8 ?
J(A) ¢idl (B) 2614 21
(C) dit 21 (D) Wl
89. oautt-ll AxlU U 55 6 ?
(A) 2[Ry (B) 512
(C) 208 8idl (D) Yl g3l
90. MW [Aul (Radius) Hiuau 4 2454 69 ?
(A) "D 5 (B) 1-l¥l2:
(C) sl (D) ¥l
01, welHi sau-l wulel sl Bg s 52 9 7
((A) 331 &= (convex lens) (B) ¥yt A=A (concave lens)
(C) 83t 2114l (convex mirror) (D) Adyut 134l (concave mirror)

92, [Bya1 6ivor (Audl (Big Bang Theory) -l 24 52-U2 242% il sau=Al sior gy ?

[A) 2 wS-u26 (B) HID 54 254

(C) 2% AAuldl (D) %2 U

\__—__—————_\\
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91 0., . . o “
S daieqy (Revolver) |l sy sivl 541 wdl 7

(A) A3y sics (B) H2 5522
N C) qudy () flHaz
M. (28 e [Ba suid Goya 9 7
o A) 14 21 (B) 24 A7
(C) 14 19343 (D) 24 AR
95. HE[A (Geometry) AL w5 S100 8 7
(A) 2(22ley (B) Y54
(C) wual 21y (D) 5\
96. &2, 953, dameL A YHIR S1R @A Y AU B 7
(A) e A2 (B) 512 €lral
(C) et A2l (D) e
97. auélut 6[?%2212 215 [RHIAUA DULEID (Wadia Institute of Himalayan Geology) 50 %Y Aldy
£9 7
(A) [edl @p) Rual
 (C) ESRAE (D) §¢4
98. azdHl “ddseiAs A2 21is S-far” dLlul sy ad awllg 9 7
(A) HoO (B) BERUGILE
(C) 23014 _(D) 12143
99. Yed 22 USRS (Pulitzer prize)-l 2u1u-L st auHi 2dd ¢dl ?
JA) 1917 (B) 1918
(C) 1922 (D) 1929

100.  wiaz20:2la 20l aild Y2512 2021 S 200 20dd ¢ ?
o (A) oMl v, Aluy (B) 4l ofL. L. 2Au

(C) Al 21294 2iHl (D) HHR 2331l




